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En	
  la	
  lección	
  anterior,	
  tuvimos	
  el	
  aprendizaje	
  de	
  poder	
  comprender	
  que	
  el	
  mercado	
  
es	
  un	
  sistema	
  de	
  comunicación	
  entre	
  las	
  personas,	
  y	
  que	
  si	
  hay	
  un	
  obstáculo	
  en	
  ese	
  
proceso,	
  estamos	
  perdidos.	
  	
  
Siguiendo	
  con	
  esa	
  idea	
  iniciamos	
  esta	
  lección	
  recordando	
  el	
  término	
  de	
  cálculo	
  
económico.	
  Pretendemos	
  que	
  luego	
  de	
  completar	
  esta	
  lección,	
  puedas	
  analizar	
  	
  

• ¿qué	
  es	
  lo	
  que	
  puedes	
  vender?	
  
• ¿qué	
  ejemplos	
  te	
  invitan	
  a	
  ser	
  un	
  emprendedor?	
  
• ¿será	
  que	
  triunfarás?	
  

	
  
	
  
Pérdidas	
  y	
  ganancias	
  
	
  
Los	
   precios	
   permiten	
   al	
   emprendedor	
   realizar	
   el	
   cálculo	
   económico.	
   Mediante	
   el	
  
cálculo	
   económico	
   se	
   intenta	
   aprobar	
   los	
   efectos	
   de	
   una	
   determinada	
   acción,	
  
contrastando	
  sus	
  costos	
  y	
  beneficios.	
  Si	
  los	
  beneficios	
  son	
  mayores	
  que	
  los	
  costos,	
  se	
  
obtendrán	
   ganancias;	
   si	
   ocurre	
   al	
   revés,	
   pérdidas.	
   Las	
   pérdidas	
   y	
   las	
   ganancias	
  
determinan	
   que	
   es	
   lo	
   que	
   ha	
   de	
   producirse,	
   cómo	
   ha	
   de	
   producirse	
   y	
   en	
   qué	
  
momento.	
  Son	
  las	
  señales	
  que	
  envían	
  los	
  consumidores	
  para	
  orientar	
  si	
  las	
  cosas	
  se	
  
están	
  haciendo	
  bien,	
  y	
  si	
  realmente	
  se	
  están	
  valorando	
  los	
  productos	
  y	
  servicios	
  que	
  
se	
  les	
  ofrecen.	
  
	
  
El	
  estado	
  de	
  pérdidas	
  y	
  ganancias	
  es	
  el	
  gran	
  instrumento	
  por	
  el	
  cual	
  en	
  la	
  sociedad	
  se	
  
asignan	
   los	
   recursos	
   a	
   aquellos	
   fines	
   que	
   son	
   más	
   valorados,	
   de	
   este	
   modo	
  
constituyen	
   el	
   gran	
   indicador	
   para	
   que	
   el	
   emprendedor	
   decida	
   continuar	
   una	
  
actividad	
  o	
   redefinir	
   la	
   forma	
  en	
   la	
  que	
  se	
  está	
  desarrollando.	
  Funcionan	
  como	
   los	
  
métodos	
   para	
   hacer	
   caminar	
   al	
   burro:	
   el	
   garrote	
   y	
   la	
   zanahoria;	
   y	
   difícilmente	
  
podamos	
   decir	
   cual	
   de	
   los	
   2	
   es	
   más	
   poderoso,	
   si	
   la	
   ansiedad	
   por	
   obtener	
  
determinada	
  ganancia	
  o	
  el	
  temor	
  por	
  sufrir	
  alguna	
  pérdida.	
  
	
  
El	
  emprendedor	
  puede	
  afrontar	
  tres	
  resultados:	
  



1. Negativo	
  
2. Neutro	
  
3. Positivo	
  

Los	
  tres	
  resultados	
  son	
  señales	
  importantes,	
  las	
  pérdidas	
  son	
  un	
  claro	
  indicador	
  que	
  
deben	
  hacerse	
  cambios.	
  	
  
	
  

La	
  historia	
  de	
  Don	
  Pepe	
  ejemplifica	
  mejor.	
  Don	
  Pepe,	
  era	
  un	
  empresario	
  que	
  
toda	
   su	
   vida	
   se	
   había	
   dedicado	
   al	
   cultivo	
   de	
   tomates,	
   de	
   una	
  manera	
  muy	
  
cuidadosa,	
   por	
   lo	
   que	
   el	
   precio	
   de	
   los	
   tomates	
   era	
   bastante	
   elevado	
   y	
   por	
  
ende	
   los	
   clientes	
   muy	
   selectos.	
   De	
   repente,	
   un	
   día,	
   se	
   dejó	
   entrever	
   la	
  
afamada	
  calidad	
  de	
  sus	
  tomates,	
  y	
  por	
  ende	
  su	
  compañía	
  se	
  ponía	
  en	
  duda.	
  
Don	
  Gerardo,	
   quien	
   producía	
   al	
   por	
  mayor,	
   había	
   comprado	
   una	
  máquina;	
  
mientras	
  a	
  Don	
  Pepe	
  producía	
  10	
  tomates,	
  Don	
  Gerardo	
  producía	
  10,000	
  con	
  
una	
  calidad	
  bastante	
  similar	
  y	
  a	
  la	
  mitad	
  de	
  precio.	
  Por	
  lo	
  que	
  la	
  gente	
  decía	
  
de	
  boca	
  en	
  boca	
  que	
  ahora	
  comprarían	
  con	
  Don	
  Gerardo,	
  ya	
  que	
   satisfacía	
  
sus	
  necesidades	
  a	
  un	
  mejor	
  precio	
  y	
  en	
  menor	
  tiempo.	
  Don	
  Gerardo	
  obtenía	
  
mayores	
  ganancias	
  y	
  Don	
  Pepe	
  tenía	
  pérdidas.	
  

	
  
Las	
  pérdidas	
  indican	
  que	
  deben	
  realizarse	
  cambios,	
  como	
  en	
  el	
  ejemplo	
  de	
  Don	
  Pepe,	
  
donde	
  los	
  resultados	
  le	
  demuestran	
  que	
  tiene	
  que	
  cambiar	
  de	
  método	
  para	
  cosechar	
  
los	
   tomates	
  o	
  bien	
  buscar	
  otro	
  sector	
  de	
  mercado	
  para	
   incursionar	
   (introducirse	
  y	
  
animarse	
   a),	
   como	
   cultivar	
   lechugas	
   y	
   aventurarse	
   de	
   nuevo.	
   Don	
   Pepe	
   no	
   puede	
  
seguir	
  así	
  ya	
  que	
  terminaría	
  consumiendo	
  el	
  capital.	
  
	
  
Por	
  supuesto,	
  en	
  todo	
  emprendimiento	
  o	
  en	
  una	
  actividad	
  que	
  ya	
  esté	
  en	
  marcha,	
  
cuando	
  se	
  enfrentan	
  nuevos	
  proyectos	
  o	
  nuevas	
  etapas,	
  pueden	
  producirse	
  pérdidas	
  
y	
  esto	
  hay	
  que	
  tomarlo	
  en	
  cuenta,	
  pero	
  hay	
  que	
  decidir	
   solucionarlo	
   rápidamente.	
  
Por	
   lo	
   que	
   habrá	
   que	
   reducir	
   costos,	
   aumentar	
   los	
   precios,	
   incrementar	
   la	
  
producción,	
  expandir	
  la	
  línea	
  de	
  productos,	
  o	
  vender	
  algunos	
  activos.	
  
	
  
Un	
  resultado	
  del	
  emprendimiento,	
  que	
  no	
  tenga	
  ni	
  ganancias	
  ni	
  pérdidas,	
  es	
  mucho	
  
más	
  sostenible,	
   incluyendo	
  el	
  costo	
  de	
  oportunidad	
  del	
  capital	
  y	
   la	
  depreciación	
  de	
  
activos.	
  El	
  mismo	
  resultado	
  podría	
  obtenerse	
  en	
  cualquier	
  otra	
   inversión	
  de	
  riesgo,	
  
lo	
   cual	
   no	
   permite	
   acumular	
   capital	
   para	
   expandir	
   actividades.	
   Es	
   decir,	
   si	
   el	
  
resultado	
   es	
   neutro,	
   se	
   podrá	
   continuar	
   con	
   la	
   actividad	
   desaprovechando	
   otras	
  
actividades,	
   que	
   podrían	
   dar	
   ganancia	
   y	
   tampoco	
   se	
   está	
   acumulando	
   capital	
   que	
  
permita	
  expandirse	
  o	
  iniciar	
  otros	
  negocios.	
  
	
  

Por	
  ejemplo	
  podríamos	
  ver	
  el	
  caso	
  de	
  que	
  la	
  Pepsi,	
  se	
  dedique	
  a	
  realizar	
  pan;	
  
el	
   caso	
  sería	
  que	
  no	
  son	
   los	
  especialistas	
  en	
   la	
   realización	
  de	
  ese	
  producto,	
  
pero	
   por	
   su	
   fama,	
   no	
   tendrían	
   pérdidas,	
   pero	
   tampoco	
   ganancias.	
   Por	
   lo	
  



tanto	
  lo	
  que	
  se	
  estaría	
  desaprovechando	
  es	
  la	
  oportunidad	
  para	
  poder	
  hacer	
  
nuevas	
  gaseosas	
  o	
  refrescos,	
  los	
  cuales	
  les	
  generarían	
  grandes	
  ganancias.	
  

	
  
La	
   rentabilidad	
   (lo	
   que	
   se	
   gana)	
   a	
   largo	
   plazo	
   permite	
   crecer,	
   comprar	
   nuevos	
  
equipos,	
   capacitar	
   a	
   los	
   empleados,	
   adoptar	
   nuevos	
   procesos	
   de	
   producción,	
  
construir	
   nuevas	
   instalaciones,	
   financiar	
   investigaciones	
   para	
   nuevos	
   productos,	
  
explorar	
  nuevas	
  oportunidades	
  de	
  negocio.	
  
	
  
Uno	
   de	
   los	
   problemas	
   con	
   los	
   que	
   se	
   enfrenta	
   el	
   emprendedor,	
   es	
   precisamente,	
  
conocer	
  qué	
  tipo	
  de	
  resultados	
  está	
  obteniendo.	
  	
  

• Contratará	
  a	
  un	
  contador	
  para	
  que	
  lo	
  ayude,	
  pero	
  aun	
  así	
  se	
  enfrentará	
  con	
  
algunos	
  problemas:	
  	
  

o la	
  información	
  de	
  los	
  registros	
  contables,	
  se	
  refiere	
  al	
  pasado,	
  	
  
o a	
  los	
  precios	
  de	
  un	
  período	
  anterior.	
  	
  

	
  
Los	
  resultados	
  pueden	
  sugerir	
  la	
  evolución	
  futura,	
  pero	
  el	
  emprendedor	
  debe	
  tomar	
  
decisiones	
  que	
  tendrán	
  un	
  impacto	
  en	
  el	
  futuro.	
  
	
  

Existen	
  ciertas	
  secciones	
  que	
  no	
  tienen	
  precios	
  del	
  mercado	
  (el	
  
valor	
   de	
   una	
  marca)	
   y	
   han	
  de	
   ser	
   evaluados;	
   para	
   otros,	
   por	
  
ejemplo	
  los	
  inventarios	
  de	
  mercaderías.	
  	
  

	
  
	
  
Los	
  datos	
  que	
  registra	
   la	
  contabilidad	
  han	
  de	
  ser	
  considerados	
  como	
  provisionales,	
  
aunque	
  esto	
  no	
   impide	
  comprender	
   la	
  eficiencia	
  del	
  cálculo	
  económico,	
  se	
  obtiene	
  
todo	
   lo	
  que	
  se	
  puede	
  en	
  un	
  mundo	
  cambiante	
  e	
   incierto	
  y	
   los	
  datos	
  que	
   refleja	
   la	
  
contabilidad	
  están	
  en	
  permanente	
  evolución,	
  para	
  perfeccionar	
  métodos	
  y	
  brindar	
  
mejores	
   indicadores	
   en	
   la	
   toma	
   de	
   decisiones.	
   Tal	
   es	
   el	
   caso,	
   por	
   ejemplo,	
   de	
   los	
  
llamados	
  “tableros	
  de	
  control”	
  donde	
  se	
   concentra	
   la	
   información	
  de	
  una	
   serie	
  de	
  
indicadores	
   con	
  datos	
   relevantes	
   actualizados	
   sobre	
   el	
   desempeño	
  de	
   la	
   empresa,	
  
comparándolos	
  con	
  períodos	
  previos	
  o	
  con	
  los	
  objetivos	
  por	
  alcanzar.	
  
	
  
	
  
	
  
	
  
	
  
	
  
Por	
  ejemplo,	
  la	
  siguiente	
  imagen	
  es	
  un	
  Tablero	
  de	
  Control,	
  para	
  ayudarte	
  a	
  entender	
  
la	
  idea	
  y...	
  ¡aplícala	
  en	
  tu	
  emprendimiento!	
  
	
  
	
  



	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
El	
   tablero	
  de	
  control	
   (TdeC)	
  es	
  una	
  herramienta	
  del	
  campo	
  de	
   la	
  administración	
  de	
  
empresas,	
   aplicable	
   a	
   cualquier	
   organización	
   y	
   nivel	
   de	
   la	
  misma,	
   cuyo	
   objetivo	
   y	
  
utilidad	
   básica	
   es	
   diagnosticar	
   adecuadamente	
   una	
   situación.	
   Se	
   define	
   como	
   el	
  
conjunto	
   de	
   indicadores	
   cuyo	
   seguimiento	
   y	
   evaluación	
   periódica	
   permitirá	
   contar	
  
con	
  un	
  mayor	
  conocimiento	
  de	
   la	
  situación	
  de	
   la	
  empresa	
  o	
  sector	
  apoyándose	
  en	
  
nuevas	
  tecnologías	
  informáticas.	
  	
  
	
  
El	
  diagnóstico	
  y	
  monitoreo	
  permanente	
  de	
  determinados	
  indicadores	
  e	
  información	
  
ha	
  sido	
  y	
  es	
  la	
  base	
  para	
  mantener	
  un	
  buen	
  control	
  de	
  la	
  situación	
  en	
  muchas	
  de	
  las	
  
disciplinas	
  de	
  la	
  vida.	
  	
  
	
  

Como	
  ejemplo	
  puede	
  señalarse	
  a	
  la:	
  	
  
o medicina,	
  basada	
  en	
  mediciones	
  para	
  el	
  diagnóstico	
  de	
  la	
  salud	
  de	
  los	
  

pacientes,	
  	
  
o a	
   la	
   aviación,	
   cuyos	
   indicadores	
   de	
   tablero	
   de	
   control	
   sintetiza	
   la	
  

información	
   del	
   avión	
   y	
   del	
   entorno	
   para	
   evitar	
   sorpresas,	
  
permitiendo	
  a	
  los	
  pilotos	
  dirigir	
  el	
  avión	
  a	
  buen	
  aterrizaje.	
  	
  

	
  
En	
  todos	
  estos	
  casos	
  el	
  tablero	
  permite	
  a	
  través	
  del	
  color	
  de	
  las	
  luces	
  y	
  alarmas	
  ser	
  el	
  
disparador	
  para	
  la	
  toma	
  de	
  decisiones.	
  	
  
	
  
En	
   todos	
   estos	
   ejemplos	
   es	
   fundamental	
   definir	
   los	
   indicadores	
   a	
   monitorear.	
  
La	
  empresa	
  como	
  organización	
  formal	
  e	
  informal	
  es	
  sujeta	
  de	
  elegir	
  los	
  mecanismos	
  
para	
   tener	
   lineamientos	
  en	
  muchos	
  de	
  sus	
  valores	
  para	
   facilitar	
  el	
  diagnóstico	
  y	
   la	
  
toma	
  de	
  decisiones.	
  	
  
	
  



Como	
  por	
  ejemplo	
  si	
  tu	
  pones	
  en	
  tu	
  tabla	
  de	
  control	
  que	
  quieres	
  ver	
  cuántas	
  
veces	
  eligen	
  un	
  producto	
  y	
   si	
   el	
  precio	
  es	
  el	
  mejor	
   y	
   te	
  da	
  un	
   resultado	
  de	
  
cuántas	
  mujeres	
  lo	
  compran,	
  es	
  un	
  resultado	
  que	
  te	
  ayudó,	
  pero	
  no	
  lo	
  tenías	
  
previsto	
  para	
  el	
  resultado,	
  por	
  lo	
  que	
  te	
  generó	
  un	
  conocimiento	
  extra.	
  

	
  
Si	
  bien	
  hay	
   indicadores	
  genéricos	
  para	
  todas	
   las	
  empresas,	
  especialmente	
  en	
  áreas	
  
como	
   las	
   económicas	
   financieras,	
   cada	
   empresa	
   o	
   sector	
   requiere	
   definiciones	
   a	
  
medida	
   de	
   sus	
   propios	
   parámetros	
   y	
   definir	
   quién	
   y	
   cómo	
   va	
   a	
   monitorear	
   esa	
  
información.	
  
	
  
El	
   Tablero	
   de	
   Control	
   nace	
   al	
   no	
   existir	
   una	
  metodología	
   clara	
   para	
   enseñar	
   a	
   los	
  
directivos	
  a	
  organizar	
  y	
  configurar	
  la	
  información.	
  	
  
	
  
El	
  cálculo	
  económico	
  puede	
  realizarse	
  solamente	
  si	
  existe	
  una	
  unidad	
  de	
  cuenta	
  que	
  
permita	
   comparar	
   peras	
   con	
   manzanas,	
   horas	
   de	
   mano	
   de	
   obra	
   contratada	
   con	
  
kilogramos	
   de	
   harina	
   utilizados.	
   Esta	
   función	
   la	
   cumple	
   la	
   moneda.	
   El	
   cálculo	
  
económico	
  es,	
  entonces,	
  cálculo	
  monetario.	
  Por	
  lo	
  que	
  Ludwig	
  von	
  Mises	
  señala:	
  
	
  

El	
  cálculo	
  monetario	
  es	
  el	
  norte	
  de	
  la	
  acción	
  dentro	
  de	
  un	
  sistema	
  de	
  división	
  
social	
  del	
  trabajo.	
  Viene	
  a	
  ser	
  la	
  brújula	
  que	
  guía	
  al	
  hombre	
  cuando	
  se	
  lanza	
  a	
  
producir.	
   Mediante	
   el	
   cálculo	
   distingue,	
   entre	
   las	
   múltiples	
   producciones	
  
posibles,	
  las	
  remuneradoras	
  de	
  las	
  que	
  no	
  lo	
  son;	
  las	
  que	
  seguramente	
  serán	
  
apreciadas	
  por	
  el	
  consumidor	
  de	
  las	
  que	
  probablemente	
  rechace.	
  Cada	
  etapa	
  
de	
  la	
  actuación	
  productiva,	
  debe	
  ponderarse	
  por	
  medio	
  del	
  cálculo	
  monetario.	
  
La	
  previa	
  planificación	
  de	
   la	
  acción	
   se	
   convierte	
   en	
   cálculo	
   comercial	
   de	
   los	
  
costos	
   y	
   beneficios	
   esperados.	
   La	
   verificación	
   regresiva	
   del	
   resultado	
   de	
   las	
  
acciones	
  generalizadas	
  se	
  convierte	
  en	
  contabilidad	
  de	
  pérdidas	
  y	
  ganancias.	
  	
  

	
  
La	
   visión	
   de	
   los	
   economistas	
   y	
   de	
   los	
   contadores	
   tienen	
   diferencias	
   en	
   lo	
   que	
   se	
  
refiere	
   a	
   la	
   contabilidad	
   de	
   costos,	
   sobre	
   todo	
   en	
   cuanto	
   se	
   refiere	
   al	
   costo	
   del	
  
capital.	
  	
  

Las	
  normas	
   contables	
   requieren	
  que	
  en	
  el	
   cuadro	
  de	
   resultados	
   se	
   informe	
  
acerca	
   de	
   los	
   intereses	
   pagados,	
   tanto	
   por	
   bonos	
   emitidos	
   como	
   por	
  
préstamos	
  bancarios	
  tomados	
  (deudas),	
  pero	
  considera	
  el	
  financiamiento	
  de	
  
actividades	
  con	
  capital	
  propio	
  como	
  si	
   fuera	
  gratuito,	
   ignorando	
  el	
  costo	
  de	
  
oportunidad	
  del	
  capital.	
  	
  

	
  
El	
   concepto	
   de	
   “costo	
   de	
   oportunidad”	
   fue	
   desarrollado	
   por	
   el	
   economista	
  
austriaco	
  Friederich	
  von	
  Wieser	
  para	
  destacar	
  	
  

o que	
  toda	
  acción	
  que	
  realizamos	
  significa	
  la	
  elección	
  de	
  una	
  alternativa	
  
posible	
  y	
  el	
  abandono	
  de	
  otras.	
  



	
  
En	
   la	
   segunda	
   mitad	
   del	
   siglo	
   XX,	
   los	
   economistas	
   han	
   desarrollado	
   distintos	
  
métodos	
   para	
   cuantificar	
   el	
   costo	
   de	
   oportunidad	
   del	
   capital.	
   Uno	
   de	
   los	
   más	
  
conocidos	
   y	
   extendidos	
   en	
   la	
   actualidad	
   es	
   el	
   que	
   se	
   basa	
   en	
   el	
   Valor	
   Económico	
  
Agregado	
  (EVA)	
  por	
  las	
  siglas	
  del	
   idioma	
  inglés	
  Economic	
  Value	
  Added.	
  El	
  EVA	
  es	
  el	
  
menor	
   resultado	
   contable,	
   porque	
   deduce	
   de	
   las	
   ganancias	
   tanto	
   el	
   costo	
   de	
   la	
  
deuda	
   como	
   el	
   capital	
   propio	
   (a	
   menos,	
   que	
   un	
   emprendimiento,	
   se	
   financie	
  
solamente	
  con	
  deuda,	
  en	
  cuyo	
  caso	
  el	
  resultado	
  sería	
  el	
  mismo).	
  
	
  
El	
  emprendedor	
  exitoso	
  será	
  quien	
  obtenga	
  un	
  retorno	
  sobre	
  la	
   inversión,	
  superior	
  
al	
  costo	
  prometido	
  del	
  capital	
  invertido.	
  La	
  competencia	
  en	
  el	
  mercado	
  tiende	
  a	
  que	
  
esas	
  ganancias	
  disminuyan,	
  ya	
  que	
   la	
  misma	
  existencia	
  de	
  esas	
  utilidades	
  será	
  una	
  
señal	
   para	
   que	
   otros	
   ingresen	
   en	
   ese	
   segmento	
   específico	
   del	
   mercado,	
  
incrementando	
  así	
  la	
  oferta.	
  
	
  
Por	
  ese	
  motivo,	
  el	
  emprendedor	
  está	
  obligado	
  a	
  innovar	
  en	
  forma	
  permanente	
  para	
  
recuperar	
  y	
  mantener	
  ese	
  margen	
  de	
  ganancias.	
  
	
  
Conclusiones	
  
	
  

1. Los	
   precios	
   condensan	
   gran	
   cantidad	
   de	
   información	
   dispersa	
   y	
   son	
   datos	
  
fundamentales	
  a	
  considerar	
  en	
  la	
  toma	
  de	
  decisiones	
  

2. Las	
  pérdidas	
  o	
  ganancias	
   reflejan	
   la	
  valoración	
  que	
  hacen	
   los	
  consumidores	
  
de	
   los	
  productos	
  y	
   servicios	
  que	
   se	
   les	
  ofrecen	
  y	
   si	
   el	
   emprendedor	
   lo	
  está	
  
haciendo	
  de	
  la	
  mejor	
  manera.	
  

3. Nunca	
   olvidar	
   el	
   costo	
   de	
   oportunidad	
   del	
   capital,	
   invertido	
   a	
   efectos	
   de	
  
determinar	
  la	
  rentabilidad	
  del	
  negocio.	
  

	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
Glosario	
  
	
  

Condensan.	
  Reducir	
  una	
  cosa	
  a	
  menor	
  volumen.	
  
Indicadores.	
  
Redefinir.	
  



Remuneradoras.	
  Beneficiosas,	
  productivas,	
  provechosas,	
  convenientes.	
  
Rentabilidad.	
  
Similar.	
  Que	
  tiene	
  semejanza	
  con	
  una	
  cosa	
  
Supuesto.	
  Hipotético,	
  no	
  comprobado	
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